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Section A 

Directions: In this section, you will hear 10 short conversations. At the end of each conversation, a question will be asked about what was said. Both the conversation and the question will be spoken only once. After each question there will be a pause. During the pause, you must read the four choices marked A), B), C), and D), and decide which is the best answer. Then mark the corresponding letter on the Answer Sheet with a single line through the center.
Example: You will hear:

        You will read:
 A) At the office           B) In the waiting room

C) At the airport          D) In a restaurant

From the conversation we know that the two were talking about some work they had to finish in the evening. This is most likely to have taken place at the office. Therefore, A) “At the office” is the best answer. You should choose [A] on the Answer Sheet and mark it with a single line through the center.

Sample Answer [A] [B][C] [D]

1. A) Have a discussion with her classmates.

B) Have her class at school.

C) Attend her friend John’s birthday party.

D) Go to the cinema with her friend John.

2. A) She will tell the man the way to the station.

B) She suggests the man ask someone else.

C) She will go to the railway station together with the man.

D) She will bring the man to the Police Station.

3. A) He was absent from the class this morning.

B) He was very angry.

C) He thought the man was a bad student.

D) He didn’t care about the man’s absence.

4. A) Borrow a pen from someone else.

B) Go to buy a pen for himself.

C) Use her pen.

D) Try to find a pen in her bag.

5. A) It is easy to the man, while the woman thinks it is quite difficult.

B) The woman fails to finish it within the limited time.

C) It is easy to both of them.

D) The man has not prepared for it at all.

6. A) She accepts the reduction, but not willingly.

B) She refuses to accept the reduction.

C) She thinks her salary is high.

D) She thinks her salary is too low.

7. A) The man wants to reserve a room.

B) The man reserved a room some time ago.

C) The man has booked a room with no bath.

D) The man wants to buy a flat on the second floor.

8. A) They need to turn left up ahead.

B) She doesn’t know where State Street is.

C) There was no left turn at the last crossing.

D) They missed the turn.

9. A) They are the best plants.

B) It’s not necessary to water the plants every day.

C) She will take care of the plants for the man.

D) The man should find some other plants.

10. A) Never prepare for it.

B) Begin to prepare for it as soon as he can.

C) The later he begins to prepare for it, the better score he will get.

D) She will help him to prepare for it.

Section B

Directions: In this section, you will hear 3 passages. At the end of each passage, you will hear some questions. Both the passage and the questions will be spoken only once. After you hear a question, you must choose the best answer from the four choices marked A), B), C), and D). Then mark the corresponding letter on the Answer Sheet with a single line through the center.

Passage One

Questions 11 to 13 are based on the passage you have just heard.

11. A) Your heart rate increases.

B) You become even more tired.

C) You solve the fatigue problem.

D) You’ll get hungry. 


12. A) Little opportunity to rest during the day.

B) Not drink enough coffee.

C) Sitting the entire day.

D) Exercising too much.

13. A) It may have become a habit.

B) It works well.

C) It is a harmless method.

D) It is too expensive.

Passage Two

Questions 14 to 16 are based on the passage you have just heard.

14. A) Industrialization and the value of privacy.

B) Child and wife abuse.

C) The expansion of the suburbs.

D) The modern family and its related problems.

15. A) Fathers spent less time with their children.

B) Mothers had less housework to do.

C) Families moved into suburbs.

D) Industrialization made the family more open.

16. A) Many social problems exist due to its seclusion.

B) The family cannot survive economically.

C) Working mothers make privatization impossible.

D) Researchers are discovering the benefits of privacy.

Passage Three

Questions 17 to 20 are based on the passage you have just heard.

17. A) Because they go to work early in the morning.

B) Because they have a reputation for good humor.

C) Because their job is a difficult one.

D) Because they earn very little money.

18. A) Because many people live in blocks of flats.

B) Because many flats have mailboxes upstairs and have no lifts.

C) Because many people receive registered letters.

D) Because letterboxes are sometimes downstairs.

19. A) Ride a bicycle.
         B) Wait for someone to sign for it.

   C) Use the lift.
D) Ride a small van.

20. A) When the weather conditions are bad, sometimes it is not possible to use a van

      or a bike.           

B) When he would go to isolated houses.

C) When his vehicle is out of order.

D) When it is raining or snowing.

Directions:  There are 3 passages in this part. Each passage is followed by some questions or unfinished statements. For each of them there are four choices marked A, B, C and D. You should decide on the best choice and mark the corresponding letter on the Answer Sheet with a single line through the centre.
Questions 21 to 25 are based on the following passage:
For the most part, rapid economic development has been a boon. But there is a down side to development—health problems such as overweight are all becoming more prevalent, as more people take taxis to work instead of riding their bicycles, and other labor-saving devices become more popular.

An increasingly fast pace of life makes it difficult for people to spend time working out or playing sports. “I know exercise is good for your health,” a young lady said. “But after a busy work week, the only thing I want to do is watch some TV and go to sleep.” That attitude may explain the results of a recent nationwide study, which suggested 15 percent of urban adults in China are overweight, a large number of people over the age of 40 suffer from high blood pressure and cardiac ailments.

Local researchers found that 31.2 percent of elderly respondents were getting enough exercise, but less than 9 percent of youngsters and the middle-aged got an adequate amount of physical activity.

Elderly people understand the importance of protecting their health. The young people, however, are busy working and use this as an excuse to avoid exercise. In fact, physical exercise doesn’t require much time, money or a special gymnasium. People can make use of any time and any place at their convenience to take part in sports. Walking quickly, cycling, climbing the stairs and dancing are all helpful methods to enhance one’s health. 

The benefits of adding a little more activity to your life are priceless. “There is no need to be an athlete, however,” a local doctor said. People should walk for 30 minutes a day and take part in some other physical activity three to five times a week. He warns, however, that people in poor physical shape should start slowly, and build up over time.

China has taken the need for more exercise to heart, with the government running several activities last Sunday, which was the designated World Health Day. Pamphlets and posters based on the theme “Move for Health” were distributed nationwide, encouraging people to develop a positive and healthy lifestyle.

21. Rapid economic development has resulted in all the following except______.

   A. an increasing number of taxi passengers

   B. the wide use of labor-saving device

   C. an increasingly fast pace of life

   D. people’s awareness of the importance of exercise

22. Some people are getting overweight because ______.

   A. they are too busy to have any time for exercise

   B. they are ignorant of the benefits of exercise

   C. they are too weak to participate in physical activity

   D. they are short of money to pay for different exercises

23. According to the passage, who need regular daily exercise most?

   A. People taking taxis to work.

   B. Urban adults with full-time jobs.

   C. Elderly people suffering from high blood pressure.

   D. Youngsters dreaming of becoming professional athletes.

24. What is the main idea of the last paragraph but one?

   A. Many people are still unable to afford the cost of physical exercises.

   B. Nobody should take part in physical activity in order to be an athlete.

   C. Moderate physical exercise is usually enough for ordinary people.

   D. Old or sick people should only take part in physical exercises of the slowest type.

25. By referring to rapid economic development as “a boon” at the beginning of the passage,

 the author means that ______.

   A. it has benefited the general public greatly

   B. it has done harm to people’s health nationwide

   C. it is going faster than anyone could have imagined

   D. it has helped to establish a positive and healthy lifestyle of the public

Questions 26 to 30 are based on the following passage:
Aging is the process of growing old. It occurs eventually in every living thing provided, of course, that an illness or accident does not kill it prematurely. The most familiar outward signs of aging may be seen in old people, such as the graying of the hair and the wrinkling of the skin. Signs of aging in a pet dog or cat include loss of playfulness and energy, a decline in hearing and eyesight, or even a slight graying of the coat. Plants age, too, but the signs are much harder to detect. 

  Most body parts grow bigger and stronger, and function more efficiently during childhood. They reach their peak at the time of maturity, or early adulthood. After that, they begin to decline. Bones, for example, gradually become lighter and more brittle. In the aged, the joints between the bones also become rigid and more inflexible. This can make moving very painful.

  All the major organs of the body show signs of aging. The brain, for example, works less efficiently, and even gets smaller in size. Thinking processes of all sorts are slowed down. Old people often have trouble in remembering recent events.

  One of the most serious changes of old age occurs in the arteries, the blood vessels that lead from the heart. They become thickened and constricted, allowing less blood to flow to the rest of the body. This condition accounts, directly or indirectly, for many of the diseases of the aged. It may, for example, result in heart attack.

  Aging is not a uniform process. Different parts of the body wear out at different rates. There are great differences among people in their rate of aging. Even the cells of the body differ in the way they age. The majority of cells are capable or reproducing themselves many times during the course of a lifetime. Nerve cells and muscle fibers can never be replaced once they wear out.

  Gerontologists──scientists who study the process of aging──believe the wearing out of the body is controlled by a built-in biological time-clock. They are trying to discover how this clock works so that they can slow down the process. This could give man a longer life and a great number of productive years.

26. What is the main idea in the first paragraph?

A. Signs of aging are easier to detect in animals than in plants.

B. Aging occurs in every living thing after it has reached maturity.

C. The outward signs of aging may be seen in old people.

D. Not all signs of aging are visible.

27. “The arteries” refers to ______.

A. the paths along which blood flows to all parts of the body

B. the tubes carrying blood back to the heart

C. vessels that are thickened and constricted

D. such heart diseases as suffered by old people

28. Many of the diseases of old people are the result of ______.

A. lack of blood

B. low blood pressure

C. the thickening of the blood vessels

D. adequate blood circulation

29. “Aging is not a uniform process” means that ______.

A. old people do not have the same outward signs of aging

B. not all people age at the same age

C. the process of aging is slow

D. nerve cells and muscle fibers do not age simultaneously
30. Which of the statements about aging is false?

A. People vary in their rate of aging.

B. The cells of the body age in different ways.

C. The various parts of the body do not wear out at the same rate.

D. All body cells once worn out can never be replaced.
Questions 31 to 35 are based on the following passage:
When Carolyn Gordon, an administrative assistant from Tucson, Arizona, decided to install a program called E-Blaster that would let her secretly observe her 14-year-old daughter’s instant messaging sessions, she didn’t expect to learn anything alarming. She was surprised.

 “It was a rude awakening,” the 42-year-old single mom says. “ I found out she was drinking and smoking pot, which I never would have suspected.” Gordon, who never told her daughter she had installed the monitoring software, says she was able to intervene（干预） early enough to solve the problem and turn the eighth grader’s behavior around.

  A parent in Illinois reports that Internet monitoring software helped her stop some drinking parties and other illegal and potentially dangerous activities her teenage sons were planning with their friends. Perhaps most disturbing, a Tennessee father who monitored his 13-year-old daughter’s online chat activity discovered that the girl was having a sexual relationship with her 37-year old middle school teacher. Using records of chat sessions, he was able to gather enough evidence to convict the teacher of statutory（法律界定的）rape. 

 It’s stories like these, of course, that fuel the sales of parental control software. But as the technology of parental oversight has improved, parents face tougher questions about when responsible supervision turns into paranoia or an invasion of children’s privacy. Five years ago, most parental control software was used only to filter（过滤）the Web, blocking children from pornographic（色情的）or violent sites. Now, parents can have godlike powers over their children’s online lives, viewing everything the kids do as they surf or chat, and immediately stopping any activity that the parents disapprove of.

Naturally, every parent wants their child to be safe, whether the child is online or on the school bus. And certainly if you suspect your child is involved in drugs, inappropriate relationships, or other dangerous situations, it’s your responsibility to step in and intervene using whatever tools are necessary.

 If your kids get involved in any situation online that makes them uncomfortable, encourage them to stop the communication immediately and tell you. And finally, don’t be afraid to check in regularly. After all, if you don’t know what your kids are doing online, how can you know if they’re safe?
31. It can be inferred that E-Blaster _______.

A. is the new way that parents educate their children

B. is the new program that can prevent the children’s activities

C. is the new software that allows parents to monitor virtually everything children do online

D. is the new bombs that can destroy the other websites
32. The reason why the sales of parental control software increased is that ______.

A. more and more parents want their children to be safe everywhere

B. more and more children like chatting online

C. more and more children commit the illegal and dangerous activities

D. both A and C
33. What did a Tennessee father discover when he monitored his daughter’s online chat activity?
A. She was drinking and smoking pot 

B. She was involved in some drinking parties and other illegal activities

C. She was having a sexual relationship with her teacher 27 years her senior

D. She was viewing pornographic sites
34. The side effects (副作用) of the using E-Blaster is that ______.

A. it may arouse the children’s rebellion

B. it may invade the children’s privacy

C. it may make parents become dictators

D. children lost their freedom
35. What’s the author’s attitude towards parents’ using the E-Blaster?

A. He strongly objects to parents’ using it.

B. He is indifferent to the application of such a device.

C. The author thinks it’s terrific for parents to have done so.

D.
He thinks it’s parents’ responsibility to use it to better guide children.

Directions:  There are 20 incomplete sentences in this part. For each sentence there are 4 choices marked A, B, C and D. Choose the ONE answer that best completes the sentence. Then mark the corresponding letter on the Answer Sheet with a single line through the centre.
36. My neighbor was arrested this morning because the police _____ him _____ carrying out two bomb attacks.

A.  suspected… of  



         B.  suspected… to    

C.  charged… of          



  D.  charged… to

37. Children’s toy guns now look so real that they can often ____ the real thing.

A.  be taken after  





 B.  pass for  

C.  be passed after  





 D.  take for

38. A different experience of the world could_____ a completely different approach to life.

A.  erect      






 B.  put       

C.  set       






 D.  forge

39. The police think the thief is still _____.

A.  in the premise  





 B.  in the premises  

C.  on the premises  




 D.  on the premise

40. She picked up the receiver and, _____ asking the caller to hold on, went to tell Jack that he was wanted on the phone.

A with as much as  





 B without so much as  

C with as well as  





 D without so well as

41. My cases were too heavy, and the airline charged me $40 for _____ baggage.

A.  excess  






 B.  large   

C.  more   







 D.  additional

42. The World Cup Final was being _____ live to over fifty countries.

A.  transferred   






 B.  transmitted   

C.  transcended    





   
 D.  transported

43. Taxes provided most of the government’s _____.

A.  salary   







 B.  revenue    

C.  profits    







 D.  rewards

44. He read over the plan we had drawn up and said he had no _____ to it.

A.  objection   







 B.  opinion   

C.  denial   







 D.  disagreement

45. There are several possible explanations for the great job _____ in Japan in contrast to the great job mobility in the United States.

   A.  creativity     






 B.  security      

C.  credibility      





 D.  stability 

46. They have to pay all the bills and rent out of $800, _____ the seven kids they’ve got to feed.

A.  not to mention                   

 B.  so not to mention   

C.  not mentioning                   

 D.  no mentioning

47. She needed to move closer ____ what she was saying.

A.  for my hearing                  

 B.  for me to hear   

C.  as to for me to hear            

     D.  in order I to hear

48. What you’ve just heard was an interview recorded during _____.

A.  making of his film              

 B.  the making of his film  

C.  making his film                  

 D.  his making the film

49. Do you anticipate _____ any real problem in getting support?

A.  there being   






 B.  there to be     

C.  there’s being   






 D.  there be

50. You’ll have a hard time _____ her to lend you the car, after what happened last time.

A.  to persuade  
          


     B.  persuading    

C.  for you to persuade 




 
 D.  for your persuading
51. I just wonder if ______ ever ______ that you could have your own enterprise and run it yourself when you were still a student.

   A.  it … occurred






B.  you … occurred to it

   C.  it … occurred to you





D.  you … occurred
52. My trip to the small village under the control of the enemy fire was full of delays and difficulties, but I eventually ______.

   A.  got by







B.  turned it over

   C.  hit the sack






D.  made it
53. As she matured as an artist, she ______ realize that “all artists are a product of their culture.”
   A.  came to







B.  kept to
   C.  took to







D.  went to
54. This report offered the most ______ and accurate information on the possible defects resulting from cloning.

   A.  specific







B.  general

   C.  particular






D.  trivial
55. The worsening of the country’s economy could mean ______ public support for the ruling party.

   A.  crippled







B.  subtracted

   C.  fluttered







D.  diminished

Section A
Directions:  There are 10 blanks in the following passage. You are supposed to fill in each of them with ONE appropriate word. Write your answers on the right side of the corresponding numbers on the Answer Sheet.
Those days are over. In rural areas as well ___56___ in cities, doors do not stay ___57___, even for part of an evening. Suburbs and country areas are, in many ways, even more ___58___ than well-patrolled ___59___  streets. Statistics show the crime rate ___60___ more dramatically in those allegedly tranquil areas ___61___ in cities. At any rate, the era of leaving the front door on the ___62___is over. It has been replaced by dead-bolt locks, security chains, electronic alarm systems and trip wires ___63___up to a police station or private guard firm. Many suburban families have sliding glass doors on their patios, ___64___ steel bars elegantly built in so no one can pry the doors ___65___.
Section B

Directions:  There are 10 blanks in the following passage. For each blank there are 4 choices marked A, B, C and D. You should choose the ONE that best fits into the passage. Then mark the corresponding letter on the Answer Sheet with a single line through the centre.
In less than 30 years, as schools opened and ceilings lifted, a large African American middle class has been created. High school graduation rates, even intelligence test results, grow ___66___ between whites and blacks with each ___67___ year.

The civil-rights movement that Dr. King led also helped women gain greater opportunity. The same laws that ___68___ equal opportunity for African American ___69___ to women, to other ___70___ , to the disabled. Our society benefits as ___71___ of its people have their genius ___72___ or their talents ___73___.

We have come a long way---but we have ___74___ to go. Commission after commission, report after report, show that systematic discrimination still ___75___ our country. 

66. A. much complicated





B. more expansive



C. much closer






D. more unrealistic
67. A. passing







B. passed




C. past








D. passer

68. A. grudge







B. gauge





C. grunt








D. guarantee
69. A. fit








B. suit





C. adapt








D. apply

70. A. majorities







B. whites





C. tribes








D. minorities

71. A. more








B. many





C. fewer








D. less

72. A. compressed






B. condensed




C. supplanted






D. suppressed

73. A. wasted







B. to be wasted



C. to being wasted





D. being wasted

74. A. more








B. far




C. many








D. long

75. A. stains







B. scatters




C. sways







D. separates

Directions:  For this part, you are asked to write a composition about Work Through College in three paragraphs. You are given the first sentence or part of the first sentence of each paragraph. Your part of the composition should be no less than 120 words. Remember to write clearly on the Answer Sheet.
Work Through College

1. Many students work during holidays to earn money. _______________________

2. What is more, work brings the students into contact with the realities of the outside world. __________________________

3. Therefore, both school authorities and parents encourage students to take up some work during the vacations. ________________________________
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